
 

 

FSR 244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

43077 LIT1534

 

  

T3-IPS / HV-T3 CABLE RETRACTOR INSTALLATION INSTRUCTIONS

GUIDE BRACKET

T3-IPS (SOLD SEPERATELY)

HANGER SUPPORT

1. PRIOR TO INSTALLING T3-IPS ASSEMBLY (SOLD SEPERATELY) INTO 
TABLE (SEE T3-IPS INSTALLATION INSTRUCTIONS), INSERT GUIDE 
BRACKET INTO T3-IPS AND SECURE WITH #6 PAN HEAD SCREWS.

(4) #6 PAN HEAD SCREW

2. DETERMINE WHICH SIDE RETRACTOR WILL BE LOCATED 
(LEFT-SIDE MOUNTING SHOWN) AND MOUNT HANGER SUPPORT 
AGAINST FRONT SIDE OF T3 MOUNTING BRACKET AND CHASSIS 
SIDE WITH #6 HARDWARE.

(2) #6 SELF TAPPING
      SCREW

CHASSIS SIDE

BACK SIDE OF
T3 MOUNTING

BRACKET

EDGE AGAINST CHASSIS SIDE

FACE AGAINST FRONT SIDE
OF T3 MOUNTING BRACKET

BACK OF T3-IPS
ASSEMBLY

6a. ALIGN RING-PIN HOLES AND INSERT RING-PIN ON ASSEMBLY.  FOR 
THE ADDITIONAL SECURITY OF A TAMPER-PROOF INSTALLATION, 
INSTALL #6-32 x 1/4 LONG FLAT HEAD SCREW, AS SHOWN.

RING-PIN

CLEVIS PIN

6b. LOOSEN ADJUSTABLE HANGER WINGNUT.  ALIGN ADJUSTABLE 
HANGER HOLES WITH RETRACTOR FLANGE HOLES, ENSURING THE 
HANGER IS VERTICAL AS POSSIBLE, AND INSERT CLEVIS PIN.  SECURE 
CLEVIS PIN WITH HAIR-PIN COTTER.

6c. LIFT RETRACTOR ASSEMBLY TO TAKE UP ALL SLACK AND TIGHTEN 
ADJUSTABLE HANGER WINGNUT TO ENSURE ASSEMBLY WEIGHT IS 
CARRIED BY THE TABLE.  HANGER NUT CAN BE TIGHTENED FOR 
ADDITIONAL INSTALLATION SECURITY.

ADJUSTABLE HANGER
NUT LOCATED ON

OPPOSITE SIDE
OF WINGNUT

HAIRPIN-COTTER

#6 FLAT HEAD SCREW FOR
TAMPER-PROOF INSTALLATION



 

 

NOZZLE
CAPTURE
BRACKET

(RIGHT)

3. INSTALL ADJUSTABLE HANGER ONTO HANGER SUPPORT WITH CLEVIS 
PIN AND SECURE WITH HAIR-PIN COTTER.

CLEVIS PIN

ADJUSTABLE HANGER

HAIR-PIN COTTER

NOTE WINGNUT LOCATION

NOZZLE
CAPTURE
BRACKET
(LEFT)

OR

CHASSIS SUPPORT BRACKET

(2) #6 FLAT HEAD SCREW

#6 FLAT
HEAD
SCREW

#6 PAN HEAD SCREW

4. INSTALL NOZZLE CAPTURE AND SUPPORT BRACKETS 
ONTO RETRACTOR WITH #6 HARDWARE.

RETRACTOR

5. SLIDE RETRACTOR ASSEMBLY UP INTO T3-IPS ASSEMBLY.

RING-PIN HOLE

RING-PIN HOLE

RETRACTOR ASSEMBLY

THE RETRACTOR "NOZZLE" ASSEMBLY MAY REQUIRE 
LOOSENING IN ORDER TO EASILY INSTALL THE 
NOZZLE CAPTURE BRACKET.  REMOVE THE UPPER 
NOZZLE-FIXING SCREW AND LOOSEN THE LOWER 
SCREW - THIS WILL ALLOW THE NOZZLE TO TILT AND 
ALLOW INSTALLATION OF THE CAPTURE BRACKET.  
ONCE THE CAPTURE BRACKET IS LOCATED, AND 
BEFORE FASTENING IT IN PLACE, RE-INSTALL THE 
UPPER NOZZLE-FIXING SCREW, AND TIGHTEN BOTH 
FIXING SCREWS.  INSTALL AND TIGHTEN THE 
CAPTURE BRACKET SECURING SCREWS TO 
COMPLETE THIS PART OF THE INSTALLATION.

NOTE:

RETRACTOR
NOZZLE

UPPER NOZZLE-
FIXING SCREW

(REMOVE)

LOWER NOZZLE-
FIXING SCREW

(LOOSEN)


